# A result on the first-passage time of an Ornstein-Uhlenbeck process 

Susanne Ditlevsen

## To cite this version:

Susanne Ditlevsen. A result on the first-passage time of an Ornstein-Uhlenbeck process. Statistics and Probability Letters, 2009, 77 (18), pp.1744. 10.1016/j.spl.2007.04.015 . hal-00580100

HAL Id: hal-00580100
https://hal.science/hal-00580100
Submitted on 26 Mar 2011

HAL is a multi-disciplinary open access archive for the deposit and dissemination of scientific research documents, whether they are published or not. The documents may come from teaching and research institutions in France or abroad, or from public or private research centers.

L'archive ouverte pluridisciplinaire HAL, est destinée au dépôt et à la diffusion de documents scientifiques de niveau recherche, publiés ou non, émanant des établissements d'enseignement et de recherche français ou étrangers, des laboratoires publics ou privés.

## Author's Accepted Manuscript

A result on the first-passage time of an OrnsteinUhlenbeck process

Susanne Ditlevsen

| PII: | S0167-7152(07)00160-5 |
| :--- | :--- |
| DOI: | doi:10.1016/j.spl.2007.04.015 |
| Reference: | STAPRO 4663 |

To appear in: Statistics \& Probability Letters

www.elsevier.com/locate/stapro

Received date: 23 September 2004
Revised date: 12 May 2006
Accepted date: 10 April 2007
Cite this article as: Susanne Ditlevsen, A result on the first-passage time of an OrnsteinUhlenbeck process, Statistics \& Probability Letters (2007), doi:10.1016/j.spl.2007.04.015

This is a PDF file of an unedited manuscript that has been accepted for publication. As a service to our customers we are providing this early version of the manuscript. The manuscript will undergo copyediting, typesetting, and review of the resulting galley proof before it is published in its final citable form. Please note that during the production process errors may be discovered which could affect the content, and all legal disclaimers that apply to the journal pertain.

# A result on the first-passage time of an Ornstein-Uhlenbeck process 

Susanne Ditlevsen<br>Department of Biostatistics, University of Copenhagen Øster Farimagsgade 5, entr. B, P.O.Box 2099, 1014 Kbh K, DK


#### Abstract

Consider the first time an Ornstein-Uhlenbeck process starting from zero crosses a constant positive threshold. Assuming that the asymptotic mean is above the threshold, conditions on the asymptotic variance relative to the distance between the threshold and the asymptotic mean are given that ensures the finiteness of the positive Laplace transforms.


Key words: Laplace transform, Martingales, Eigenfunctions, Conditional moments, Hermite polynomials

Email address: sudi@pubhealth.ku.dk (Susanne Ditlevsen).
URL: http://www.biostat.ku.dk/~sudi/ (Susanne Ditlevsen).

## 1 Introduction

The first-passage time of an Ornstein-Uhlenbeck process through a constant threshold has been used in diverse areas of applied mathematics when it is reasonable to assume an underlying stochastic process in a problem of interest, which eventually will reach a certain level that leads to some observed event. In biology, it has been used as a model for neuronal activity (see e.g. Bulsara et al, 1996; Lansky, Sacerdote and Tomasetti, 1995; Ricciardi and Sacerdote, 1979; Shimokawa et al, 2000; Tuckwell, Wan and Rospars, 2002), in survival analysis the model has been applied by Aalen and Gjessing (2004), and also in mathematical finance it has found applications (see e.g. Jeanblanc and Rutkowski, 2000; Leblanc and Scaillet, 1998; Linetsky, 2004). A large literature has been dedicated to find the distribution of the first-passage time (for an overview see Alili, Patie and Pedersen, 2005).

The theoretical results of the present paper have been used to define moment estimators from observations of first-passage times in the context of neuronal modeling (Ditlevsen and Lansky, 2005). The same techniques were applied in (Ditlevsen and Lansky, 2006) for defining estimators in the Cox-IngersollRoss process (Cox, Ingersoll and Ross, 1985), which in the neuronal literature is called the Feller process (Lansky, Sacerdote and Tomasetti, 1995) because (Feller, 1951) proposed it as a model for population growth.

In this paper a formula for the conditional moments of any order of the Ornstein-Uhlenbeck-process is first derived, and then used to define suitable martingales. The martingales are then applied to give conditions on the parameter space so that the positive Laplace transform of the first-passage time of the process through a constant threshold is finite.

## 2 The Ornstein-Uhlenbeck process

Consider the Ornstein-Uhlenbeck process:

$$
\begin{equation*}
\mathrm{d} X_{t}=-\beta\left(X_{t}-\alpha\right) \mathrm{d} t+\sigma \mathrm{d} W_{t} ; \quad X_{0}=x_{0}=0 \tag{1}
\end{equation*}
$$

where $W$ is a Wiener process, and $\theta=(\alpha, \beta, \sigma) \in \mathbb{R} \times \mathbb{R}_{+} \times \mathbb{R}_{+}$. The generator of (1) is the differential operator

$$
L_{\theta}=\frac{1}{2} \sigma^{2} \frac{\mathrm{~d}^{2}}{\mathrm{~d} x^{2}}-\beta(x-\alpha) \frac{\mathrm{d}}{\mathrm{~d} x}
$$

defined for all twice differentiable functions. An eigenfunction $\varphi(x ; \theta)$ for $L_{\theta}$ with associated eigenvalue $\lambda(\theta)$ is a twice continuously differentiable function that fulfills

$$
\begin{equation*}
L_{\theta} \varphi(x ; \theta)=-\lambda(\theta) \varphi(x ; \theta) \tag{2}
\end{equation*}
$$

for all $x \in \mathbb{R}$. For simplicity consider the centered process $\tilde{X}_{t}=X_{t}-\alpha$, which has eigenfunctions

$$
\varphi_{k}=\sum_{m=0}^{\left[\frac{k}{2}\right]} \frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m} x^{k-2 m}
$$

for $k \in \mathbb{N}$, where $[a]$ denotes the largest integer such that $[a] \leq a$. The associated eigenvalues are $\lambda_{k}=k \beta$. This can easily be checked by substitution into (2). In Karlin and Taylor (1981, p.333) the eigenfunctions are given for $\sigma=\beta=1$. Note that $\varphi_{k}(x)=\left(\sigma^{2} / 4 \beta\right)^{k / 2} H_{k}\left(x \sqrt{\beta / \sigma^{2}}\right)$, where $H_{k}$ are Hermite polynomials (Lebedev, 1972). For this model we have for $t>s$ that

$$
\begin{equation*}
E\left[\varphi_{k}\left(\tilde{X}_{t} ; \theta\right) \mid \tilde{X}_{s}\right]=e^{-k \beta(t-s)} \varphi_{k}\left(\tilde{X}_{s} ; \theta\right) \tag{3}
\end{equation*}
$$

(Kessler and Sørensen, 1999), where $E[\cdot]$ denotes expectation under the law of (1). This yields the formula for the conditional moments

$$
\begin{equation*}
E\left[\tilde{X}_{t}^{k} \mid \tilde{X}_{s}\right]=e^{-k \beta(t-s)} \sum_{m=0}^{\left[\frac{k}{2}\right]} \frac{k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m}\left(e^{2 \beta(t-s)}-1\right)^{m} \tilde{X}_{s}^{k-2 m} \tag{4}
\end{equation*}
$$

In effect, (4) is obviously true for $k=1$ and 2 . Assume it is true for $k-2 m$ for all $1 \leq m \leq\left[\frac{k}{2}\right]$. First note that

$$
\begin{aligned}
E\left[\varphi_{k}\left(\tilde{X}_{t} ; \theta\right) \mid \tilde{X}_{s}\right] & =\sum_{m=0}^{\left\lfloor\frac{k}{2}\right]} \frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m} E\left[\tilde{X}_{t}^{k-2 m} \mid \tilde{X}_{s}\right] \\
& =E\left[\tilde{X}_{t}^{k} \mid \tilde{X}_{s}\right]+\sum_{m=1}^{\left[\frac{k}{2}\right]} \frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m} E\left[\tilde{X}_{t}^{k-2 m} \mid \tilde{X}_{s}\right]
\end{aligned}
$$

so that (3) yields

$$
\begin{aligned}
E\left[\tilde{X}_{t}^{k} \mid \tilde{X}_{s}\right]= & e^{-k \beta(t-s)} \sum_{m=0}^{\left[\frac{k}{2}\right]} \frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m} \tilde{X}_{s}^{k-2 m} \\
& -\sum_{m=1}^{\left[\frac{k}{2}\right]} \frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m} E\left[\tilde{X}_{t}^{k-2 m} \mid \tilde{X}_{s}\right] .
\end{aligned}
$$

The last summand on the right hand side can by the induction assumption be written

$$
\begin{aligned}
& -\sum_{m=1}^{\left[\frac{k}{2}\right]} \frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m} e^{-(k-2 m) \beta(t-s)} \times \\
& \sum_{j=0}^{\left[\frac{k-2 m}{2}\right]} \frac{(k-2 m)!}{(k-2(m+j))!j!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{j}\left(e^{2 \beta(t-s)}-1\right)^{j} \tilde{X}_{s}^{k-2(m+j)} \\
= & -\sum_{n=1}^{\left[\frac{k}{2}\right]} \sum_{m=1}^{n} \frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m} e^{-(k-2 m) \beta(t-s)} \times \\
& \frac{(k-2 m)!}{(k-2 n)!(n-m)!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{(n-m)}\left(e^{2 \beta(t-s)}-1\right)^{(n-m)} \tilde{X}_{s}^{k-2 n} \\
= & -\sum_{n=1}^{\left[\frac{k}{2}\right]} \frac{k!}{(k-2 n)!n!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{n} e^{-k \beta(t-s)} \tilde{X}_{s}^{k-2 n} \times \\
& \sum_{m=1}^{n}\binom{n}{m}\left(-e^{2 \beta(t-s)}\right)^{m}\left(e^{2 \beta(t-s)}-1\right)^{(n-m)} \\
= & -\sum_{n=1}^{\left[\frac{k}{2}\right]} \frac{k!}{(k-2 n)!n!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{n} e^{-k \beta(t-s)} \tilde{X}_{s}^{k-2 n}\left((-1)^{n}-\left(e^{2 \beta(t-s)}-1\right)^{n}\right)
\end{aligned}
$$

where we have used the identities $\sum_{m=1}^{N} \sum_{j=0}^{N-m} a_{m, j}=\sum_{n=1}^{N} \sum_{m=1}^{n} a_{m, n-m}$ through the change of variable $n=m+j$, and $(a+b)^{n}=\sum_{i=0}^{n}\binom{n}{i} a^{(n-i)} b^{i}=$ $a^{n}+\sum_{i=1}^{n}\binom{n}{i} a^{(n-i)} b^{i}$, where $a=\left(e^{2 \beta(t-s)}-1\right)$ and $b=-e^{2 \beta(t-s)}$. This yields

$$
\begin{aligned}
E\left[\tilde{X}_{t}^{k} \mid \tilde{X}_{s}\right]= & e^{-k \beta(t-s)} \sum_{m=0}^{\left[\frac{k}{2}\right]} \frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m} \tilde{X}_{s}^{k-2 m} \\
& -\sum_{n=1}^{\left[\frac{k}{2}\right]} \frac{k!}{(k-2 n)!n!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{n} e^{-k \beta(t-s)}\left((-1)^{n}-\left(e^{2 \beta(t-s)}-1\right)^{n}\right) \tilde{X}_{s}^{k-2 n}
\end{aligned}
$$

so that the coefficient to $\tilde{X}_{s}^{k-2 i}$ for $1 \leq i \leq\left[\frac{k}{2}\right]$ is

$$
\begin{aligned}
& e^{-k \beta(t-s)} \frac{k!}{(k-2 i)!i!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{i}\left((-1)^{i}-\left((-1)^{i}-\left(e^{2 \beta(t-s)}-1\right)^{i}\right)\right) \\
= & e^{-k \beta(t-s)} \frac{k!}{(k-2 i)!i!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{i}\left(e^{2 \beta(t-s)}-1\right)^{i}
\end{aligned}
$$

which is also the case for $i=0$. We have finally obtained (4).

## 3 The first-passage time through a constant threshold

Define the stopping time

$$
\begin{equation*}
T=\inf \left\{t>0 ; X_{t} \geq S>0\right\} \tag{5}
\end{equation*}
$$

which is the first-passage time of $X_{t}$ through a constant threshold. The Laplace transform of $T$ is given by the representation

$$
\begin{equation*}
E\left[e^{\lambda \beta T}\right]=\frac{\exp \left\{\frac{\alpha^{2} \beta}{2 \sigma^{2}}\right\} D_{\lambda}(\alpha \sqrt{2 \beta} / \sigma)}{\exp \left\{\frac{(\alpha-S)^{2} \beta}{2 \sigma^{2}}\right\} D_{\lambda}((\alpha-S) \sqrt{2 \beta} / \sigma)}=\frac{H_{\lambda}(\alpha \sqrt{\beta} / \sigma)}{H_{\lambda}((\alpha-S) \sqrt{\beta} / \sigma)} \tag{6}
\end{equation*}
$$

for $\lambda<0$, where $D_{\lambda}(\cdot)$ and $H_{\lambda}(\cdot)$ are parabolic cylinder and Hermite functions, respectively, see Lebedev (1972, p.98) and Borodin and Salminen (2002, p.542). The result can be extended to $\lambda>0$ with certain restrictions on the parameter space to ensure that $E\left[e^{\lambda \beta T}\right]<\infty$. A decreasing sequence of subsets of the parameter space is found by defining suitable martingales using the conditional moments of (1), which provides conditions on the parameters for which (6) is finite. The expression becomes particularly simple when $k \in \mathbb{N}$, because then (6) reduces to a fraction of Hermite polynomials.

## 4 Main result

Theorem 1 Let $X_{t}$ and $T$ be given by (1) and (5), respectively, and let $(\alpha, \beta, \sigma)=\theta \in \Theta^{(k)}=\left\{\theta \mid \alpha>S, \sqrt{\sigma^{2} / \beta}<(\alpha-S) / \lambda^{(k)}\right\}$ for $k \in \mathbb{N}$, where $\lambda^{(k)}$ is the largest root of the $k$ 'th Hermite polynomial. Then

$$
E\left[e^{\lambda \beta T}\right]=\frac{H_{\lambda}(\alpha \sqrt{\beta} / \sigma)}{H_{\lambda}((\alpha-S) \sqrt{\beta} / \sigma)}
$$

for $\lambda \leq k$, where $H_{\lambda}$ is the Hermite function.
Note first that this is intuitively true, since for $\lambda$ a positive integer, (6) is well-defined when $\theta$ fulfills the condition given in Theorem 1.

Proof: Define the processes

$$
M_{t}^{(k)}=\sum_{m=0}^{\left[\frac{k}{2}\right]} \frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m}\left(1-e^{-2 \beta t}\right)^{m} e^{k \beta t} \tilde{X}_{t}^{k-2 m}=h_{t}^{k} H_{k}\left(\frac{\tilde{X}_{t} e^{\beta t}}{2 h_{t}}\right)
$$

where $H_{k}(\cdot)$ are the Hermite polynomials and $h_{t}=\sqrt{\sigma^{2}\left(e^{2 \beta t}-1\right) / 4 \beta}$. The $M_{t}^{(k)}$ are martingales with respect to the natural filtration $\mathfrak{F}_{t}=\sigma\left(X_{s} ; 0 \leq\right.$ $s \leq t$ ), the sigma-algebra generated by $X_{s}$ for $0 \leq s \leq t$. First observe that $M_{t}^{(k)}$ have finite expectation for all $k$ since they are polynomial functions of a Gaussian variable, which possesses moments of any order. Moreover, for $s<t$ we have

$$
\begin{aligned}
& E\left[M_{t}^{(k)} \mid \mathfrak{F}_{s}\right]=E\left[M_{t}^{(k)} \mid \tilde{X}_{s}\right] \\
= & \sum_{m=0}^{\left[\frac{k}{2}\right]} \frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m}\left(1-e^{-2 \beta t}\right)^{m} e^{k \beta t} E\left[\tilde{X}_{t}^{k-2 m} \mid \tilde{X}_{s}\right] \\
= & \sum_{m=0}^{\left[\frac{k}{2}\right]\left[\frac{k-2 m}{2}\right]} \sum_{j=0}^{2(m-2(m+j))!m!j!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{(m+j)}\left(1-e^{-2 \beta t}\right)^{m} e^{k \beta s} e^{2 m \beta(t-s)}\left(e^{2 \beta(t-s)}-1\right)^{j} \tilde{X}_{s}^{k-2(m+j)} \\
= & \sum_{n=0}^{\left[\frac{k}{2}\right]} \sum_{m=0}^{n} \frac{(-1)^{m} k!}{(k-2 n)!m!(n-m)!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{n}\left(e^{2 \beta(t-s)}-e^{-2 \beta s}\right)^{m} e^{k \beta s}\left(e^{2 \beta(t-s)}-1\right)^{n-m} \tilde{X}_{s}^{k-2 n} \\
= & \sum_{n=0}^{\left[\frac{k}{2}\right]} \frac{k!}{(k-2 n)!n!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{n} e^{k \beta s} \tilde{X}_{s}^{k-2 n} \sum_{m=0}^{n}\binom{n}{m}\left(e^{-2 \beta s}-e^{2 \beta(t-s)}\right)^{m}\left(e^{2 \beta(t-s)}-1\right)^{n-m} \\
= & \sum_{n=0}^{\left[\frac{k}{2}\right]} \frac{(-1)^{n} k!}{(k-2 n)!n!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{n} e^{k \beta s} \tilde{X}_{s}^{k-2 n}\left(1-e^{-2 \beta s}\right)^{n} \\
= & M_{s}^{(k)} .
\end{aligned}
$$

Therefore also $M_{T \wedge t}^{(k)}$, the processes stopped at $T$, are martingales (Williams, 1991, p.99), where $T$ is given by (5). This yields

$$
\begin{equation*}
\alpha^{k}=(-1)^{k} E\left[M_{0}^{(k)}\right]=(-1)^{k} E\left[M_{T \wedge t}^{(k)}\right]=E\left[h_{T \wedge t}^{k} H_{k}\left(\frac{\left(\alpha-X_{T \wedge t}\right) e^{\beta(T \wedge t)}}{2 h_{T \wedge t}}\right)\right] . \tag{7}
\end{equation*}
$$

Define $\lambda^{(k)}$ to be the largest positive root of the $k$ th Hermite polynomial. Then $\lambda^{(1)}<\lambda^{(2)}<\cdots<\lambda^{(k)}<\lambda^{(k+1)}<\cdots$ (Szegö, 1975, p.46). The first four are $\lambda^{(1)}=0, \lambda^{(2)}=1 / \sqrt{2}, \lambda^{(3)}=\sqrt{3 / 2}$ and $\lambda^{(4)}=\sqrt{(3+\sqrt{6}) / 2}$. Moreover, $H_{k}(x)$ is positive and monotonically increasing for $x>\lambda^{(k)}$. Define the decreasing sequence of subsets of the parameter space

$$
\Theta^{(k)}=\left\{\theta \mid \alpha>S, \sqrt{\sigma^{2} / \beta}<(\alpha-S) / \lambda^{(k)}\right\}
$$

where division by 0 is defined to be infinity. The first inequality in the definition of the subsets $\Theta^{(k)}$ defines the supra-threshold regime, where the asymptotic mean $\alpha$ of $X_{t}$ is larger than the threshold $S$. The second inequality restricts the asymptotic standard deviation $\sqrt{\sigma^{2} / 2 \beta}$ of $X_{t}$ to be smaller than a factor
proportional to the distance between the asymptotic mean and the threshold, and inversely proportional to the largest positive root of the $k$ th Hermite polynomial. Thus, when $k$ increases, the variance has to be smaller for the exponential moments to be finite, which is a natural requirement. Assume $\theta \in \Theta^{(k)}$, then

$$
\frac{\left(\alpha-X_{T \wedge t}\right) e^{\beta(T \wedge t)}}{2 h_{T \wedge t}}=\frac{\left(\alpha-X_{T \wedge t}\right) e^{\beta(T \wedge t)}}{\sqrt{\sigma^{2} / \beta} \sqrt{\left(e^{2 \beta(T \wedge t)}-1\right)}}>\frac{(\alpha-S)}{\sqrt{\sigma^{2} / \beta}}>\lambda^{(k)}
$$

for all $t$, so that if $\theta \in \Theta^{(k)}$, then (7) yields

$$
\begin{aligned}
\alpha^{k} & \geq E\left[h_{T \wedge t}^{k} H_{k}\left(\frac{(\alpha-S) e^{\beta(T \wedge t)}}{2 h_{T \wedge t}}\right)\right] \\
& =\sum_{m=0}^{\left[\frac{k}{2}\right]} g_{k m}(\theta) E\left[e^{k \beta(T \wedge t)}\left(1-e^{-2 \beta(T \wedge t)}\right)^{m}\right] \\
& =\sum_{m=0}^{\left[\frac{k}{2}\right]} g_{k m}(\theta) \sum_{i=0}^{m}\binom{m}{i}(-1)^{i} E\left[e^{(k-2 i) \beta(T \wedge t)}\right] \\
& =\sum_{m=0}^{\left[\frac{k}{2}\right]} g_{k m}(\theta) E\left[e^{k \beta(T \wedge t)}\right]+\sum_{m=1}^{\left[\frac{k}{2}\right]} g_{k m}(\theta) \sum_{i=1}^{m}\binom{m}{i}(-1)^{i} E\left[e^{(k-2 i) \beta(T \wedge t)}\right]
\end{aligned}
$$

where $g_{k m}(\theta)=\frac{(-1)^{m} k!}{(k-2 m)!m!}\left(\frac{\sigma^{2}}{4 \beta}\right)^{m}(\alpha-S)^{k-2 m}$. The coefficient to $E\left[e^{k \beta(T \wedge t)}\right]$
is $\sum_{m=0}^{\left[\frac{k}{2}\right]} g_{k m}(\theta)=\left(\frac{\sigma^{2}}{4 \beta}\right)^{\frac{k}{2}} H_{k}\left(\frac{(\alpha-S) \sqrt{\beta}}{\sigma}\right)$, which is positive when $\theta \in \Theta^{(k)}$. We can therefore rearrange

$$
\begin{equation*}
\frac{\alpha^{k}-\sum_{m=1}^{\left[\frac{k}{2}\right]} g_{k m}(\theta) \sum_{i=1}^{m}\binom{m}{i}(-1)^{i} E\left[e^{(k-2 i) \beta(T \wedge t)}\right]}{\sum_{m=0}^{\left[\frac{k}{2}\right]} g_{k m}(\theta)} \geq E\left[e^{k \beta(T \wedge t)}\right] \tag{8}
\end{equation*}
$$

This is valid for all $k \in \mathbb{N}$. For $k=1$ we obtain $\alpha /(\alpha-S) \geq E\left[e^{\beta(T \wedge t)}\right]$ for $\alpha>S$, and when $k=2$ then (8) yields $\left(\alpha^{2}-\sigma^{2} / 2 \beta\right) /\left((\alpha-S)^{2}-\sigma^{2} / 2 \beta\right) \geq$ $E\left[e^{2 \beta(T \wedge t)}\right]$ for $\alpha>S$ and $\sigma^{2} / 2 \beta<(\alpha-S)^{2}$. Therefore, by induction and because $\Theta^{(k)} \subset \Theta^{(k-1)}$, the left hand side will be finite, say less than some constant $K_{k}$ depending on $k$. Taking limits on both sides we obtain

$$
K_{k} \geq \lim _{t \rightarrow \infty} E\left[e^{k \beta(T \wedge t)}\right]=E\left[e^{k \beta T}\right]
$$

by monotone convergence. We have thus obtained conditions on the parameter space for which $E\left[e^{k \beta T}\right]<\infty$, so that (6) can be applied.

Note that substituting $E\left[e^{(k-2 i) \beta(T \wedge t)}\right]$ in (8) with expression (6) for $\lambda=k-2 i$ we obtain that in the limit when $t \rightarrow \infty$, (8) is an equality, using the same techniques as in the proof of (4). This implies that when $\theta \in \Theta^{(k)}$, then $E\left[M_{0}^{(k)}\right]=(-\alpha)^{k}=E\left[M_{T}^{(k)}\right]$.

In Table 1 the first four moments are given with indication of the subset of the parameter space in which the expressions are valid.

## Acknowledgments

I am grateful to Michael Sørensen for helpful comments. Work supported by grants from the Danish Medical Research Council and the Lundbeck Foundation.

## References

O.O. Aalen, and H.K Gjessing. Survival models based on the OrnsteinUhlenbeck process. Lifetime data analysis, 10:407-423, 2004.
L. Alili, P. Patie, and J.L. Pedersen. Representations of the first hitting time density of an Ornstein-Uhlenbeck process. Stochastic Models, 21:967-980, 2005.
A.N. Borodin and P. Salminen. Handbook of Brownian motion - Facts and Formulae. Probability and its applications. Birkhauser Verlag, Basel, 2002.
A.R. Bulsara, T.C. Elston, C.R. Doering, S.B. Lowen, and K. Lindberg. Cooperative behavior in periodically driven noisy integrate-and-fire models of neuronal dynamics. Phys. Rev. E, 53:3958-3969, 1996.
J.C. Cox, J.E. Ingersoll, and S.A. Ross. A theory of the term structure of interest rates. Econometrica, 53:385-407, 1985.
S. Ditlevsen and P. Lansky. Estimation of the input parameters in the Ornstein-Uhlenbeck neuronal model. Phys. Rev. E, 71:011907, 2005.
S. Ditlevsen and P. Lansky. Estimation of the input parameters in the Feller neuronal model. Phys. Rev. E, 73:061910, 2006.
W. Feller. Diffusion processes in genetics. In: J. Neyman (ed.): Proceedings of the second Berkeley symposium on mathematical statistics and probability. University of California Press, Berkeley, 1951. p.227-246.
M. Jeanblanc and M. Rutkowski. Modelling of default risk: An overview. Modern Mathematical finance: Theory and practice. Higher Education Press, Beijing, 2000. p.171-269.
S. Karlin and H.M. Taylor. A second course in stochastic processes. Academic Press, New York, 1981.
M. Kessler and M. Sørensen. Estimating equations based on eigenfunctions for a discretely observed diffusion process. Bernoulli, 5(2):299-314, 1999.
P. Lansky, L. Sacerdote, and F. Tomasetti. On the comparison of Feller and Ornstein-Uhlenbeck models for neural activity. Biological Cybernetics, 73:457-465, 1995.
N.N. Lebedev. Special functions and their applications. Dover Publications, New York, 1972.
B. Leblanc and O. Scaillet. Path dependent options on yields in the affine term structure. Finance Stoch., 2:349-367, 1998.
V. Linetsky. Computing hitting time densities for CIR and OU diffusions: applications to mean-reverting models. J. Comput. Finance, 7:1-22, 2004.
L.M. Ricciardi and L. Sacerdote. The Ornstein-Uhlenbeck process as a model of neuronal activity. Biol. Cybern., 35:1-9, 1979.
T. Shimokawa, K. Pakdaman, T. Takahata, S. Tanabe, and S. Sato. A first-passage-time analysis of the periodically forced noisy leaky integrate-andfire model. Biol. Cybern., 83:327-340, 2000.
G. Szegö. Orthogonal polynomials. American Mathematical Society, Providence, Rhode Island, 4th edition, 1975.
H.C. Tuckwell, F.Y.M. Wan, and J.P. Rospars. A spatial stochastic neuronal
model with Ornstein-Uhlenbeck input current. Biol. Cybern., 86:137-145, 2002.
D. Williams. Probability with Martingales. Cambridge University Press, 1991.

| $k$ | $\lambda^{(k)}$ | $E\left[e^{k \beta T}\right]$ |
| :---: | :---: | :---: |
| 1 | 0 | $\frac{\alpha}{(\alpha-S)}$ |
| 2 | $\frac{1}{\sqrt{2}}$ | $\frac{\alpha^{2}-\frac{\sigma^{2}}{2 \beta}}{(\alpha-S)^{2}-\frac{\sigma^{2}}{2 \beta}}$ |
| 3 | $\sqrt{\frac{3}{2}}$ | $\frac{\alpha}{(\alpha-S)}\left(\frac{\alpha^{2}-\frac{3 \sigma^{2}}{2 \beta}}{(\alpha-S)^{2}-\frac{3 \sigma^{2}}{2 \beta}}\right)$ |
| 4 | $\sqrt{\frac{3+\sqrt{6}}{2}}$ | $\frac{\left(\alpha^{2}-\frac{3 \sigma^{2}}{2 \beta}\right)^{2}-\frac{3 \sigma^{4}}{2 \beta^{2}}}{\left((\alpha-S)^{2}-\frac{3 \sigma^{2}}{2 \beta}\right)^{2}-\frac{3 \sigma^{4}}{2 \beta^{2}}}$ |

Table 1
The first 4 moments of $e^{\beta T}$, where $T$ is the first-passage time of an OrnsteinUhlenbeck process with parameters $\theta=(\alpha, \beta, \sigma)$ through a constant threshold $S$, which is valid for $\theta \in \Theta^{(k)}=\left\{\theta \mid \alpha>S, \sqrt{\sigma^{2} / \beta}<(\alpha-S) / \lambda^{(k)}\right\}$.

